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Answer the following questions: N

- 500 grams of ice [H20 (s)] at -10°C is added to 500 grams of water at 64°C. When the temperature of the mixture
is 0°C; what weight of ice is still present? Where, the heat of fusion of H20 equals 80 cal. g7, specific heat capacity of

water and ice equals 1.0 cal.g’’K! and 0.5 cal.g’K! respectively. (3 degrees)
Choose the correct one after answer of the followi ng,

A)152.24 g. B) 131.25 C)240.34 g. D) 95.00 g.
2- What is the sign of the entropy change (+ or -) for each of the following, ( 3degrees )

1) Moisture condenses on the outside of a cold glass. —

2) Raindrops form in a cloud. —

3) Gasoline vaporizes in the carburetor of an automobile engine. +
4) Formation of gaseous products from solid reactants. 4

3- Write ( v Yor ( X )ofthe following statements? (3 degrees)
A) s31"'(Jodine) are used selectively in cancer therapy to destroy malignant cells in thyroid gland.
B) 94Pu?*® (Plutonium) is used to turn on heart pacemakers.
) ssRa®* (Radium) emits o particles that substitutes the Fe (Iron) atoms in bon tissues and destroy their capacity to
/ produce both red and white blood cells. -
D) Isotones are the elements which have the same number of protons.

/4- Refer to the summarizing example. In contrast to the Chernobl accident, the 1979 nuclear accident at
three Mile Island released only 170 curies of ssI'*'. How many milligrams of s31"*! (radioactive) does this
represent after time equals the summation of 4 days and 4 hours and 55 minutes and 12 seconds? where
ti2 of s3I'*! = 8.041 days and Ave~~dro's number equals 6.023 x 10%
Choose the correct one after answer from the following; (3 degrees)
A) 1.59 mg B) 1.37 mg C) 0.59 mg D) 0.95 mg
5- The number of radioactive atoms which disintegrated per unit time from one gram of radioactive material. Which
one of the fellowing terms is correct? (3 degrees)

A) activity. B) isobars. C) Rutherford. D) Specific activity.

6- The quantity of radiation which deposited 10-2.J of energy per one Kg of tissues.
Which one of the following terms is correct? (3 degrees)

A) roentgen. B) radiation absorbed dose. C) Courie. D) electron volt.

7- The quantity of ionizing radiation that deoes damage to human tissues as is done by one roentgen of high-voltage x-
rays. Which one of the following terms is correct? 7 (3 degrees)
A) rad B) Roentgen C) rem D)e.V.
- What is the age of a mummy, given a sC'* activity of 8.5 dis min™! g"'? Where tos= 5730 y and the decay rate at
equilibrium is 15 dis min! g . Choose the correct one after answer from the following : 3 degrees)
The answer )~ )& })(lo "L
A)8.04a . B)4.5x10°y C)46596.32 y D) 5730.23 y N- 2, 1) X1 f)

9- Two moles of H: gas at 300°K are heated to 600°K while the volume is kept constant. The density of the gas is:

A) increases to double. B) decreases to half. C) remains the same. (3 degrees)
D) Not enough information is given to correctly answer the question. ‘Lb \
oy
10- What is the mass (in grams) of 6 liters of NHj gas at STP? Where 7N and 1H/, ¢ -
Choose the correct one after answer from the following;
A)2.921¢g B)S.444 g C)4554 g D)2502¢g
7,7

ﬁ\;\&&er\em\ O




(et wallain) Sluahl] 220lS0 4 Glauidl Goda Sabe Glaie!
Ed aigal] dnoly GilalS Baed — (19l & pidl
(Askt) Gl 503 — ¥+ 19 guigu

(dﬂhn & g

\\’]\ {
o

i of g s Gk Jylo Wl Jullally ¥+ o] ¥ poily o0 i) bl s 35 (i
Gsl) o B304 (a,b,c,dl) s Do Gibiln] o Jhadbill (2,0) o
@y ¥ Gilayall IS pgenlly Banlg 4aya Lot dglaf JS gl Cods

t ubdibw.t(b)gwt

J.udy.xﬂb&wuauﬂjgéa..&ﬁJsuhubﬂubMMwume&M Gl .
Asdall pdd Lgy dag 5 L’QMM\ubMchLﬂﬁY\dﬁﬂMhuwth AL ghs Se
gl J\u.o.a\.gu& auuuswuﬂms alalsy ) Y aﬂ‘h’\g‘xcgiﬂ

sty Gludy) Gaial allall (e g s B Lslaad) L) Fsia aal el & gl ey .Y
- ‘ ' ' .‘a\’~\i(awc5JmS‘

Al sl dalad) Aila gl Jlani Jady ¥ 4dly sladl) ol i) i v

Gaih 1 Aaleadl 5 pal) Jarios) g s of ¢ Dabeal) Jlaxtiod 5o lud Ay 2luadd LA ddals cd e Lt

Apadd o duald cunlSa gdatl Lgule

delhl to aa by ¢ Akl sall Ba e dmal Glayag ey ALY Ay sgen &t ol gl Lo
il ) 2 g il

.81 glacall 5 4y ) &\ﬂé@gcﬁ)ﬂcm 3R Clady) (Fgia ac) g8 .4
NIRRT MJ@M‘)’L@j Oyl (8 g8 B yS foalie g atliad ?Jbi(}a\/

.wwmsg,U.me.;,:;;:u.wu,édsxﬁsﬂoi%ums&mwuﬁgaﬁaﬂs@M.A

of el ¢ o lall g s aluaBY) Jlaval b A shuaal) g ALalitl) Lpatill Ll § paie 48820 e .8

g8 pa g Al 5 5galy gl A Aalad Ll g g%

lgal) aBgia’ oy ¢ Ailadally o) A lual) Gia Lo Lulad Tge qul sledd Y

| peddl gl Ll L6 dday Asiel dted Ak oy ¢ Aelaayly dalaiby)
BBl g

A dnduall (B oo Alaad (Bl sl

Blatt (a) wmbm@w@sﬁwmwwwn:,u&u!w tmwm s At CofyLgadt (ig’r)—:-g_



s iantt_o 5t ko Dl ¥ g Al i (3, b, €, ) e daliat 150 geain Bboty daler] i (L38)

iJu‘JMJmnmux |ais dgaadl) of Laliyl of Labaidyl Ladd o .onnnnnn. FEASEE ;
IAJJDQJAM?L\.&X‘uhgmwumwwgiﬂgﬂ‘dﬂwaJ&s)@uumthdbAuLSx\
UA AA}: ¥-d dpaiil-¢ dudlial-b EELERAESY

aﬂm_mgaumysdmﬁmmgﬁmmumumubﬁs@m ........ Bugh st VY

O e

A sgvd  shujc asiis-b glas ti-a
el B ALY sl pliyy sl aslad 588 (L) sia i just LA ¥

Eysali-¢ Aagi-b (o ill-a

“*t; u.;\zs d - dasea Layi-c ila) 2 8- @.&c"ﬂ Sgali-a

,,s .uy \J—d 4y ganal) ut.,g.sx\ e ust.u;.g & M— 2.,@43 s_allis—g
05 ‘ i Mhadt 4l b tﬁglbﬂlca,u‘,lumb[&&,(a,b €, d) o boldiidi 5150 Aguslin Butort g ] i (mﬁ)
A.u‘a’luls;-w&huihabmyﬂj.meiﬂbf VY ale jsfians Che veninneen.. Ealadl i LYY

Ak 3y~ (aal painall Clusha 48 Loey WIAD @l pudag ¢ cpiblpall O BURR I EWL
e ' Basae Lia

C¥A-d Yi-c Y4-b Ye—a

Bl canf AY 8 Dl (V1Y) ) Al Janally 2194 Al A s ) B LAY
S plets ) gaa e (A Dl 48 Ll dgat] e
- dn-q Lalili-¢ iadd-b il

J;.m WYVU.J TOVAXE A Y VAJNE/Y L L) Ailas B Al A duss

e Agdgial) Abias oS s (e % "
'"‘":'ﬁ'?g‘;%\%.;r—d %X Y. t—c %Y ¢.1~b %\ 6.0-3
ta saladl s ...l Balall (e o o poaee widall jaa g awad L) 4
il gall
Yo salall a4 4 3alli-b ‘ Yo salall aY4 Saladi-a
Frosalall s YV salali~-d Ye balall s A Balali—c
....... SRS atety el gae ol B A W3 o QBN s Y
AV AT L Gugla YE b PYASY Ll o Ve LEa
?meﬂﬂ\tu&— | pYA0Y Gusla v g e

(,uJJBJ gl W? o



\«/

2021-2020 el alall J g sl pall Juadl) i)
- upoetad ) (] i e-:h-ﬁ? uhuuyuﬁadjﬂi o JA.M oAl Al

(gl uwmmuﬂum\n 2021/1/24 : St &
PR T — : : uysusu;\
52_dall) (uﬁl()) Ao Cawuﬁdlhj(a b-c) doaniall wmst\ A..al.ﬁum J O g
(AAJJL.MA.:

Al At e caad o1

i da320) Yale b ils aud g (a-boe-d ) AW Jiad) e davsall Al pds i oY) i)

(Bada JSh Ax
OS it AN G pdigall (e s gana (radaty Aiagll i cpa Basaall SLaio ] g g o yulea (a jlima JS -1
1D dsalall jlmall
I A g8l il plise -d AT & pdiiga - Al &l pdsa b 58 < pdisa -
e AadeY g

Ry i) Lgdlanls Lgild s Lol gia) docaatl Lyidolig

dialedll Adetdld | Aus LAl daad yall ¢ © aldeYiop PRV PRP i P
,,,,,,,, ple Al aalatilh 339 Gl A 5 pLEH o3 Baaiall Ataal} 3 -3
1985 -d 1980 -c 1997-b 2000 -a
s e A g8l Atanledl dlaall palic 819a aslaill B Bagall yualic e -4
eea Guaba gax -d paladll GlSe Baganc dragdatill Balall -h Ohalf g
AlaiedU ABdad o glhall g oY) dadl Jiad g Al \.@.:.\9% UJJMJMQ dgaddadlf gal_all doa S ulaadl -5
Dot e g pasdil yulea ¢ A sdll Ay uleall _p dtagdl&Y el on
| ERSNP NARS 4l A pall
ropa it dof A ol (iled ol Qugasllsy ) in o pubal draledi gal s asll 4K o -6
| Clesusa -b JRCAJPULCSA Y Ayl Clis’ya -b | pulall] Clss3a -2
) gaiaall o palaill g el

Gl oA adll o Lehdan o a8 Liaddatl) dasapall Al e 483 glall Apag s puaall of (e G823 27
wbg‘wﬂg‘gﬁmuﬁ;MML@JEﬁmsﬁgMi@
| Ly ’gall 381 g Jealetl) dleldl ¢ aslail) 5393 (laia b A g 581 g

Ao L8 (58a g dpusen sl 8580 Ll o Apaslaill dsns pall alatl] 53 g3 (Jlacds Adh dalal o X1 Bl eyl -8
Bagadl sabicall Jujeill g Cpuenill Cpaddat 5 ) ghata daldl Lgaaly Aparlatll

Ao pall 34080 g Aadey) ¢ g.'ﬂ:m pasdill -p s ¥ -a |
u\JL:mAAmJMUD‘gﬂ\u\JL‘.\A&JAAJmUH@A\gﬂumwu..o A g g8l Jil gl gaal -9
........ R oashill g eatil /i

' JAaiey) -d Ao Lad ¢ | 5,081 _p Baga flaa -a
' A gall aalpill



14 d 12 J 11 -b -10 -a
N

R M\K_ N N it |
biva B Cadlalf S 40 Cra JiaY Y Gl Lgaa Jralacilt g 1< u.ﬂ.s.a‘g aldia P - TIRT e -12
(aladl L.saa.ﬁ- ’ dadlaly .UUAJ‘ -c 45 giac el ¢ra Al g Gugaill g
ﬂ\,gdei\g : Uu.u.uﬂ

~~~~~~~ wddﬁWMMJhlim‘ﬂh 3.94 -13

Slosssisas (0 B | m gl Liogl g s L
dgaliia Basadl
I P

4 B oy M.\EW Slalall ik 14

‘JJJJ!AA ..d ‘Lu“J.ub.A Mﬁw&ahmmb f\@idﬁm -2
..... ISy JLia¥l g 33 galf athns My 15
- S
] YT N - ¥
gl o jalall slaie A8 Gty g U Eisad 16

16 -d 12 -¢ 10 -b 1 -a

Laille 5 et CEal et g datiall Lalyy ‘Ldea.!!\g MM’ lsall DA e Selsy efalyy 8 A gl b8 _17

B il oy wsw‘si LQANMJ
Mi Ll g *
L _ S

plriill g g ot _g A plaef o
I ol

W&aﬂ OJJAJT—;a

B o Aaie Yl Clel ol Jiati 19
| Gale s g wila and ¢ | il g p by 2281
Alade | : Abaic Y Slalie Y

P dall loa abf e b by S8 dS Uit ge Jlud 20
I Llladl 8l galf - LoapdlsY) el ¢ 5aLAl _p ’ Bagadl _g }

\L‘KH

B e . AT |

- 1 A
ML:IA.IHJL:JSML;@A(F )JWHJM.HMIA‘,Q( T )Jds

Al A, Ads J<t oy, Ol g

2 15 Ga Ao g adatlf 5 ga olaiial Ll Ll g
QamsJyAumﬂeﬁﬁ FAS Y ey =3
QLJ\gllu.ul;AquMbmmadﬁaﬂuww\sﬂlwldﬂ- -4
Sagadl LAY L35, 8, ity vare ittt -




renoufiya Un o
Faculty of Veterinary Medicine
Dept. of Cytology and Histology

First term Final Examination

tolo o d General Histolog Date: 10 March(2021) Wednesday (1* term)
or First year students Time allowed: 2 hours

Program: BVSc Total score: 25 Marks
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1 -Which organelle produces protein for export? il .
a) RER. b) SER. ¢) Lysosome d) Golgi apparatus 2~

2 -What type of epithelium lines the trachea? v
a) Simple columnar. b) Pseudostratified Ciliated Columna

c) Stratified Squamous. d) Stratified Columnar.

3 -Which type of cartilage forms the intervertebral discs?
a) Hyaline cartilage b) Elastic cartilage c) Fibrocartilage d) None of th

4- A membranous bounded vesicles containing freshly formed hydrolytic enzymes

a) Golgi apparatus b) 1ry Lysosome ¢) 2ry Lysosome d) phagosome \i‘k—

5-Where is mesothelium found?
a) Blood capillaries b) Body cavities c) Bone cavities d) Blood vessels

6 - Tendons and ligaments are made of:
a) Special c.t. b) Epithelial tissues c) Dense regularct.  d) Locsec.t.

7 ~What type of muscle cell contains centrally placed nuclei?
a) Smoothm.  b) Cardiacm. c) Skeletal m. d) Smooth muscle and Cardiac muscle

8- What are the three types of epithelial cell junctions?
a) Tight, Gap, Macula Adherens b) Macula Adherens, Junctions, Gap

c) Gap, Loose d) Tight

9 - Which cell is the mature bone cell?
a) Osteoclast b) Osteon ¢) Osteoblast d) Osteocyte

10 -How many types of leukocytes according tc oresence or absence of specific cytoplasmic granules?
a) two b) three. c) four. d) rive

11 - Macrophages are a type of
a) Connective tissue cell b) Stem cell c) Fat cell d) Bone cell

12- Lining blood vessels and air sacs in the lungs where diffusion needs to occur:
a) Simple cuboidal.  b) Simple columnar. c) Simple Squamous. d) Stratified Squamous.

13 -What is the connective tissue covering and surrounds cartilage?
a) Perimysium b) Perichondrium c) Periosteum d) Perineurium

14 -What type of glands are sebaceous glands?
a) Exocrine gland  b) Endocrine gland  c¢) Pineal gland d) None of the above

15.-\What are the folds on the inner mitochondriai membrane called?
a) Plasmalemma b) Glycocalyx c) Protoplasm d) Cristae

16 - The largest quantity of intercellular materials is found in :
a) Nerve fibers  b) Bone tissue  ¢) Loose connective tissue d) Muscular ti
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17 -What type of tissue lines the esophagus?

a) Simple squamous epithelium b) Transwonar epithelium
¢) Simple columnar epithelium

d) Stratified squamous epithelium
18.-Which organelles produce lipids?
a) RER. b) SER. c) Lysosome d) Mitochondria.

19 - What is the function of hyaline cartilage?

a) to protect and support the body and assist in motion. b) to store lipid

¢) to transport a variety of substances. d) to protect and Support organs.
20 - What type of muscle has cross striations?

a) Skeletal muscle b) Cardiac muscle ¢) Smooth muscle d) Both "a" and "b"

21 -What are the 4 types of tissues found in the Body?

a) Blood, Nerve, Epithelial, Skeletal b) Epithelial, Nerve, Muscle, Bone
c) Epithelial, Nerve, Connective, Muscle d) Connective, Bone, Skin, Blood

22 - What is the function of adipose tissue?

a) to protect and Support the body and assist in motion.

b) to store lipid and as cushion.
c) to transport a variety of substances.

d) to protect and support organs.
23 - What is a gland called if the secretory portion is flask shaped?
a) Simple gland b) Compound gland ¢) Alveolar gland d) Tubular gland

24- An organelle, its inner membrane is studded with minute granules which contain
phosphorylating system: a) RER b) SER ¢) mitochondria d) lysosome

25 - Which type of cartilage forms the skeleton of the fetus?
a) Elastic cartilage b Hyaline cartilage ¢) Fibrocartilage d) All the above

26 - Red blood corpuscles are discoid biconcave and non- nucleated in:
a) mammals  b) birds and fish. ¢)camel  d) amphibia,

s M tissues formed from cells with little interceliular substance, they possess
the capacity for regeneration due to wear and tear. '

a) Muscular b) Connective ¢) Nervous d) Epithelial

28- Which of the following can be classified as "embryonic connective tissue"?

a. Cartilage b. Mucous connective tissue c. Adipose tissue d. Bone

29 -What type of tissue lines the urinary bladder?
a) Cuboidal  b) Stratified Squamous keratinized c) Pseudostratified
30 -What is the process by which the cell engulfing a solid particle (as bacteria) by cell membrane?
‘ a) Endocytosis b) Exocytosis ¢) Pinocytosis d) Active transport.
31.-Which of the following is NOT a fiber found in connective tissue?
a) Collagen fiber  b) Elastic fiber ¢) Reticular fiber d) Muscular fiker

32 -Where is mesothelium found? N
a) Blood capillaries b) Bone cavities c¢) Body cavities d) Blood vessels

d) Transitional

33 -Which organelle of cellular respiration?

a) RER. b) SER. ¢) Mitochondria. d) Golgi apparatus.
34 - What does connective tissue develop from?
a) Mesothelium b) Mesoderm ¢) Endoderm d) Mesentery

35- Absorbs nutrients in the digestive tract:
' Simple columnar. b) Simple cuboidal. ¢) Simple Squamous. d) Pseudostratified.
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358- What is the cell body of 2 neuron called? S-/

a) Ganglion b) Perikaryon c) Astrocyte d) Cortex

37 -Which type of cartilage is highly vascular?
a) Hyaline cartilage. b) Elastic cartilage. ¢) Fibrocartilage. d) None of the above.

38 -What type of epithelium forms the epidermis?
a) Simple squamous. b) Simple cuboidal. c¢) Simple columnar. d) Stratified squamous.

39 - Which organelle its outer surface is attached with ribosomes?
a) RER. b) SER. c) Lysosome d) Golgi apparatus

40 -Which connective tissue cell type produces the ground substance in c.t.?
a) Fibroblast b) Fat cell ¢) Mast cell d) Plasma cell.

41 -Which of the following is NOT a main function of epithelial tissues?
a) covering exposed surfaces b) lining internal passageways
¢) contracting to produce movement d) producing glandular secretions

42 - What is the lining of bone cavity?

.‘ a) Perimysium b) Periosteum ¢) Perichondrium  d) Endosteum

43 -Where is the site of protein synthesis?
a) Ribosomes b) Peroxisome c) Centrosomes d) Lysosomes

44 -The study of tissues is called:
a) Cytology b) Pathology ¢) Endocrinology d) Histology

45 -Which connective tissue cell type produces antibodies?
-——a) Fibroblast b) macrophage c) Plasmacell d) Mast cell.
46 - What are neurons in the retina?

‘. a) Unipolar b) Pseudounipolar ¢) Multipolar d) Bipolar

47 -What type of epithelium is more than one layer of cells?
a) Stratified epith. b) Simple epith.  ¢) Pseudostratified epith.  d) Neuroepithelium

" 48 -What is the process by which the substances pass outside the cell?

a) Endocytosis b) Exocytosis c¢) Pinocytosis d) Active transport.
}' 49 -Which is the most abundant fibers in connective tissue?
a) Collagen fibers b) Elastic fibers c) Reticular fibers d) Muscle fibers
50 - Which organelle contains digestive enzymes? _
| a) Lysosome b) RER. o) SER d) Golgi apparatus
51- Three types of ..................... are presented, but according to function are two, their nuclei are
’. spherical and cytoplasm is basophilic. ]
a) Bone cell b) Granulocytes c) Lymphocytes d) Agranulocytes

52-Which type of cartilage is found in the walls of the Eustachian tube?
' a) Hyaline cartilage. b) Elastic cartilage. c) Fibrocartilage d) All the above

53 -What type of glands secrete their products directly into the bloodstream?

“ a) Holocrine b) Salivary gland ¢) Endocrine d) Exocrine
‘ 54 -Which organelle sorts and packages proteins within a cell?
a) RER. b) Golgi apparatus. c) Lysosome d. Mitochondria
55 - Which connective tissue cell type produces collagen?
' a) Mast cell b) F=* cell c) Fibroblast d) Plasma cell

A = // = S



56 -What do you call the simple squamous epithelium that lines the blood vessels?
a) Endothelium b) Mesothelium ¢) Pseudostratified d) Transitional

57-The .............. is the store of the genetic material in the cell. <
a) Nucleus b) chromatin ¢) RER d) nucleolus

58 -Which connective tissue cell type secretes histamine?
a) Fibroblast b) Plasma cell ¢) Mast cell d) Fat cell

59 -What type of epithelium is composed of flat cells?
a) Simple b) Stratified ¢) Cuboidal d) Squamous

60 -What is the polysaccharide coating that is sometimes found on the cell membrane?
a) Plasmalemma b) Glycocalyx c) Protoplasm d) Ground substance.

61 -How many types of cartilage are there? a) 1 b) 2 (o) fec d)4

62 -Which of the following is a unicellular gland?
a) Squamous cell b) Goblet cell c) Basal cell d) Basket cell

83- How many types of chromatin present in nucleus?
a) one . b) two c) three d) four

64 -What type of gland is the sebaceous glad of the skin?
a) Apocrine b) Merocrine ¢) Holocrine d) Endocrine

65-What do you call the space where a chondrocyte sits in?
a) Space of Disse b) Granule ¢) Vacuole d) Lacuna

66 - Where are intercalated discs found? ——— - i
a) Skeletal muscles b) Tendons  c¢) Vertebral column d) Cardiac muscles

67 -Which of these structures is responsible for the production of protein? :

a) peroxisome  b) mitochondrion c) Golgi Apparatus d) Rough ER
68 - Red blood corpuscles are medium sized oval, biconvex and nucleated in:

a) mammals b) birds and fish. c) camel d) amphibia.
69- What is the tissue which produce heat in newborn animais?

a) Blood b) White adipose tissue c) Brown adipose tissue d) Embryonic c.t.

70- i, ¢an move, expand, fuse, and divide by binary division.
a) Mitochondria b) Centrosome ¢) Lysosome d) Golgi apparatus
71-What is a characteristic of the cells in the epidermis of the skin? v
a) Microvilli b) Stereocilia c) Cilia d) Keratinization
72 - Which cell type is responsible for bone breakdown?
a) Osteoclast b) Osteon c) Osteocyte d) Osteoblast
73 - Its nucleus is lobulated (2-5 lobes) and cytoplasm is pale greyish and contains fine du st like
specific granules: &) Lymphocyte b) Eosinophil ¢) Neutrophil d) Basophil
74 -What are finger like projections on the surface of some cells called?
a) Microvilli b) Stereocilia c) Cilia d) Bothaand b
75 - What is the structural unit of compact bone?
a) Osteoclast b) Osteon ¢) Osteocyte d) Osteoblast
Wish you Good luck

Prof. Dr. Saad Abdel Fattah Emara
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